Download More Papers From www.GovtJobsAlert.In

Exam Date 23/11/2021
Exam Time : 12:30 PM - 2:00 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1  Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

NANKAU

Ans w1 UAAVIAV
X2 VAVIAATU
X3 AAUVIAV
X4 VIAVIUAA

Question ID : 65497835335
Status : Answered
Chosen Option : 1

Q2 gelect the dice that can be formed by folding the given sheet along the lines.

BT=[= =]

PODG

Ans X 1. Only A and B

X2 OnlyC

3 OnlyAand C
X4 OnlyA, Band D

Question ID : 65497835339
Status : Marked For Review
Chosen Option : 3
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Q.3 Five players are sitting in a straight line in a park, facing north. A and B are sitting
together. C is between B and D. E is second to the right of C. Find the position of B
from the left.

Ans # 1.2nd
X 2. 1st
< 3. 4th
7< 4. 5th

Question ID : 65497835336
Status : Answered
Chosen Option : 1

Q.4 Five friends, R, S, V, P and Q, are sitting in a row facing north. Q is sitting to the right
of R and left of S. If V is the only one sitting to the left of R, then who is sitting in the
left most position?

Ans X 1.R
x2.pP
X 3.8
4V

Question ID : 65497835326
Status : Answered
Chosen Option : 4

Q.5 Pointing to the photograph of a boy, Nikhil said, "He is my mother's mother-in-law's
daughter's only brother's son". How is the boy in the photograph related to Nikhil?

Ans X 1. Cousin
#< 2. Father
2% 3. Paternal uncle
« 4. Brother

Question ID : 65497835348
Status : Answered
Chosen Option : 4

Q.6 In a certain code language, JAGUAR is written as MDJXDU. How will LEOPARD be
written as in that language?

Ans X 1. OHQSDVG
7 2. OGRSEUG
X 3. OHRTDUH
& 4. OHRSDUG

Question ID : 65497835341
Status : Answered
Chosen Option : 4
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Q.7 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Gracious

2. Gorgeous

3. Government
4. Governor

5. Governess

Ans X 1.2,51,4,3
% 2.251,34
o 3.2,53 4,1
X 4.3,51,4,2

Question ID : 65497835328
Status : Answered
Chosen Option : 3

Q.8 Select the option that is related to the third term in the same way as the second term is
related to the first term.

SITAR : TKWEW :: CRAME : ?
Ans X 1.DTDSJ

X 2.DscaJ
& 3.DTDQJ
X 4.DTDQK

Question ID : 65497835346
Status : Answered
Chosen Option : 3

Q.9 If ‘Z’ denotes ‘addition’, ‘X’ denotes ‘multiplication’, ‘Y’ denotes ‘division’, and ‘W’
denotes ‘subtraction’, then what will be the value of the following expression?

15Y(11Z24)Z3X4(1923) Y11 X3 (3Z2)
Ans X 1.405

o 2. 361
X 3.408
X 4.390

Question ID : 65497835338
Status : Answered
Chosen Option : 2

Q.10 In a certain code language, ‘TOY’ is written as ‘UPZ’ and ‘COW’ is written as ‘DPX’.
How will ‘MONU’ be written in that language?

Ans 2 1.VONP
% 2. VOPN
X 3.NPVO
o 4. NPOV

Question ID : 65497835333
Status : Answered
Chosen Option : 4
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Q.11 Select the option that is related to the third number in the same way as the second
number is related to the first number.

15:210::26: ?
Ans X 1.666
X 2.656
" 3.650
X 4.676

Question ID : 65497835337
Status : Answered
Chosen Option : 3

Q.12 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some pumpkins are bananas.
All bananas are bitter gourds.

Conclusions:
I. No bitter gourd is a pumpkin.
Il. Some bitter gourds are bananas.

Ans X 1. Both conclusions | and Il follow
4" 2. Only conclusion Il follows
25 3. Only conclusion | follows

#< 4. Either conclusion | or Il follows

Question ID : 65497835342
Status : Answered
Chosen Option : 2

Q.13 In a certain code language, DOUBLE is written as ZKQRYM, and TEN is written as XMV.
How will TOLL be written in that language?

Ans X 1.UKQR
o 2. XKYY
25 3. YKXM
X 4. MVYY

Question ID : 65497835347
Status : Marked For Review
Chosen Option : 2
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Q.14 1Inthe given Venn diagram, the circle represents ‘girls who play football’, the rectangle represents *boys who play
football’, the triangle represents ‘girls and boys who play hockey’, and the arrow represents ‘players who play

badminton’.

35
1231 14

25 544

16

‘What is the total number of girls and boys wheo play both football and hockey?
Ans X 1. 70

X2 26

3 35

X4.9

Question ID : 65497835327

Status : Answered

Chosen Option : 2

Q.15 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

L__KC_OQ_cCLO__cC
Ans 1. OQLKQK
X 2. QOLKQK
< 3.0QLOQC
5 4.0KOoQcQ

Question ID : 65497835329

Status : Answered

Chosen Option : 1

Q.16 Select the option in which the numbers are related in the same way as are the
numbers in the given set.

4,17, 33
Ans X 1.5,10,55
X 2.12,15, 244
% 3.6,15, 71
o 4.10, 14, 114

Question ID : 65497835343

Status : Answered

Chosen Option : 2
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Q.17 Select the figure from among the given options that can replace the question mark (?) in the following series.

Ans | —

X 2. N

Question ID : 65497835331
Status : Answered
Chosen Option : 4

Q.18 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

oo oo
1

o
a
oo
I

oo
I
oo
I

I

I

oo O
oo O

I

0 0
oc o0
oo 20

1l

Question ID : 65497835345
Status : Answered
Chosen Option : 4
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Q.19 select the option in which the given figure is embedded (rotation is NOT allowed).

!

Ans

Question ID : 65497835340
Status : Answered
Chosen Option : 1

Q.20 Select the number from among the given options that can replace the question mark
(?) in the following series.

92, 86, 81,77, 2,72
Ans X 1.75

X276
X3.73
o 4.74

Question ID : 65497835330
Status : Answered
Chosen Option : 4

Q.21 The sum of four numbers A, B, C and D is 147. Theratioof Cand D is 3 : 5,
respectively. D is five times A. C is twice B. What is the value of B?

Ans X 1.45
X 227
o 3.21
X 4.42

Question ID : 65497835344
Status : Answered
Chosen Option : 3
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Q.22 'Pen’ is related to ‘Ink’ in the same way as ‘Brush’ is related to *
Ans X 1. Pencil

o 2. Paint

< 3. Paper

< 4. Drawing Book

Question ID : 65497835325
Status : Answered
Chosen Option : 2

Q.23 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

FIK, HKM, JMO, LOQ, ?
Ans X 1.NRQ
 2.NQs
% 3.QNS
% 4.SQN

Question ID : 65497835324
Status : Answered
Chosen Option : 2

Q.24 Select the number from among the given options that can replace the question mark
(?) in the following series.

9, 18, 45, 126, ?
Ans  # 1.369
% 2.333
< 3.393
< 4.39

Question ID : 65497835334
Status : Answered
Chosen Option : 1

Q.25 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.HI
X 2.AB
X 3.CD
4. PG

Question ID : 65497835332
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness
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Q.1 Who among the following is the first bowler to bowl two maiden overs in the Indian
Premier league match?

Ans 1. Mohammed Siraj
2% 2. Mohit Sharma
2% 3. Imran Tahir

#< 4. Sohail Tanvir

Question ID : 65497835366
Status : Marked For Review
Chosen Option : 3

Q.2 ‘Shaheedi Sabha’ is a festival celebrated by which of the following states?
Ans X 1.Bihar

< 2. Haryana
7 3. Sikkim
" 4. Punjab

Question ID : 65497835360
Status : Answered
Chosen Option : 4

Q.3 Which uninhabited island in India has a bird sanctuary?
Ans X 1.Bluff Island

#< 2. Barren Island
¥ 3. Pitti Island
75 4. Belle Island

Question ID : 65497835365
Status : Answered
Chosen Option : 2

Q.4 Who among the following kings of Benaras (Banaras) was arrested by Warren
Hastings in 178172

Ans  # 1. Chait (Chet) Singh
< 2. Mahip (Maheep) Narayan Singh
#< 3. Udit Narayan Singh
#< 4. Balwant Singh

Question ID : 65497835369
Status : Not Answered
Chosen Option : --

Q.5 Achanta Sharath Kamal is a professional player of from India.
Ans X 1.swimming
X 2. golf

" 3. table tennis
5 4. lawn tennis

Question ID : 65497835350
Status : Answered
Chosen Option : 2
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Q.6 What is the amount of annual health cover available to a family under the ‘Ayushman
Bharat’ scheme of the Government of India?

Ans o 1.2 5 lakh
X 2.%10 lakh
3.3 1lakh
X 4.3 3lakh

Question ID : 65497835349
Status : Answered
Chosen Option : 2

Q.7 What is India's rank in the Global Economic Freedom Index 2020?
Ans o 1.105

x2.92
x 3.107
% 4.100

Question ID : 65497835367
Status : Answered
Chosen Option : 3

Q.8 Who among the following persons can be described as 'a spokesperson of the
backward classes and castes in India'?

Ans X 1. Vallabhbhai Patel

«# 2. Dr. Babasaheb Ambedkar
#< 3. Dr. Rajendra Prasad

#< 4. Subhas Chandra Bose

Question ID : 65497835370
Status : Answered
Chosen Option : 2

Q.9 The theme for Shikshak Parv 2021 was ' 3

Ans  # 1. Quality and Sustainable Schools:Learnings from the Schools in India
2< 2. Vidyarthi Devo Bhava
#< 3. National Education Policy

#< 4. Acharya Devo.Bhava

Question ID : 65497835373
Status : Marked For Review
Chosen Option : 1

Q.10 Banabhatta wrote the biography of King .
Ans o 1. Harshavardhana

< 2. Chandragupta Maurya
2% 3. Samudragupta
5 4. Ashoka

Question ID : 65497835371
Status : Answered
Chosen Option : 1
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enhance the yield per hectare.
Ans X 1.2000

& 2. 2005
X 3.1998
X 4.2014

Q.11 In which of the following years was the National Jute Policy formulated? Its objective
was to increase productivity, improve quality, ensure good prices to jute farmers and

Question ID : 65497835357
Status : Answered
Chosen Option : 2

amount of calcium in the bloodstream is high?
Ans o 1. Thyroid

< 2. Adrenal
25 3. Pituitary
< 4. Pineal

Q.12 Calcitonin hormone is released by which of the following glands in humans when the

Question ID : 65497835362
Status : Marked For Review
Chosen Option : 3

Q.13 For how many days is the Indian festival of Onam celebrated in Kerala?
Ans X 1.12

& 2.10
X 3.15
x a7

Question ID : 65497835356
Status : Marked For Review
Chosen Option : 4

Q.14 Who among the following is the author of ‘Grandparents’ Bag of Stories’?
Ans X 1. Gauri Khan

#< 2. Twinkle Khanna
< 3. Arundhati Roy
" 4. Sudha Murty

Question ID : 65497835358
Status : Answered
Chosen Option : 2

Q.15 In which of the following years was the first Commonwealth Games held ?
Ans o 1.1930

X 2.1912
X 3.1965
 4.1956

Question ID : 65497835359
Status : Answered
Chosen Option : 3
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Q.16 According to which of the following Articles of the Constitution of India does a citizen
of the country have the right to protection of life and personal liberty?

Ans X 1. Article 17
" 2. Article 21
< 3. Article 20
X 4. Article 26

Question ID : 65497835351
Status : Answered
Chosen Option : 2

Q.17 NABARD launched a sanitation literacy campaign to promote literacy on water,
sanitation and hygiene under which of the following missions in Karnataka in October
20207

Ans X 1. Jagananna Thodu
X 2. Jal Shakti
7% 3. Hans Jal Dhara Yojana
4" 4. Swachh Bharat Mission

Question ID : 65497835361
Status : Marked For Review
Chosen Option : 2

Q.18 As per Economic Survey 2020-21, from the year , infant mortality rates
declined by 12% for states that did not adopt the ‘Ayushman Bharat Pradhan Mantri
Jan Arogya Yojana’ (AB-PMJAY).

Ans X 1.2016-17 to 2020-21
#< 2.2019-20 to 202021
< 3.2018-19 to 2019-20
o 4.2015-16 to 2019-20

Question ID : 65497835368
Status : Not Answered
Chosen Option : --

Q.19 In which of the following states did Prime Minister Narendra Modi unveil the Statue of
Peace in November 20207

Ans X 1. Maharashtra
" 2. Rajasthan
< 3. Tamil Nadu

X 4. Gujarat
Question ID : 65497835355
Status : Marked For Review
Chosen Option : 4
Q.20 Article of the Constitution of India states that the President can nominate two

members of the Anglo-Indian community to the Lok Sabha if the community is not
adequately represented.

Ans X 1.335
o 2.331
% 3.333
X 4.337

Question ID : 65497835372
Status : Answered
Chosen Option : 2
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Q.21 In which of the following years was the Gandhi-lrwin Pact signed?
Ans o 1.1931

x 2.1921
X 3.1929
X 4.1919

Question ID : 65497835354
Status : Answered
Chosen Option : 1

Q.22 In November 2020, India signed an implementation agreement on hydrography with

Ans X 1.China
#< 2. Indonesia
¥ 3. Vietnam

< 4. Japan

Question ID : 65497835352
Status : Answered
Chosen Option : 2

Q.23 Which of the following oceans’ deepest point is Java Trench?
Ans 4 1.Indian Ocean

< 2. Pacific Ocean
2< 3. Atlantic Ocean
75 4. Arctic Ocean

Question ID : 65497835364
Status : Answered
Chosen Option : 4

Q.24 Who among the following was appointed as the brand ambassador of Equitas Small
Finance Bank in November 2020?

Ans X 1. Akshay Kumar
25 2. Virat Kohli
" 3. Smriti Mandhana
< 4. Sushmita Sen

Question ID : 65497835363
Status : Answered
Chosen Option : 3

Q.25 Which of the following inert gases is used to inflate party balloons?
Ans o 1. Helium

< 2. Xenon

25 3. Argon
< 4. Neon

Question ID : 65497835353
Status : Answered
Chosen Option : 1

Section : Part C Elementary Mathematics
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QA1 rpe average of some mumbers is 37. If each of S of the numbers is increased by 7, and each of the remaining is

decreased by 9, then the average of the numbers. so obtained, is:

Ans X' 1. 35.8
X2 385
+ 3. 37.6
X4 36.7

Question ID : 65497835376
Status : Answered
Chosen Option : 3

Q2 If a sum of ¥713 is divided into three parts, A, B and C in the ratio i H g H

Ans X1 F209
X2 3297
X3 270
¥4 3279

;3, then C is equal to:

Question ID : 65497835388
Status : Answered
Chosen Option : 4

Q.3  Anarticle is listed at 18000 and the discount offered is 12%. What additional discount st be given to bring the net
selling price to T14414.40?

Ans X 1. 11%
X 2. 8%
3. 9%
X 4. 10%

Question ID : 65497835377
Status : Answered
Chosen Option : 3

Q.4 Adealer marked the price of an item 40% above its cost price. He allowed two successive discounts of 25% and 16% to

a particular customer. As a result, he incurred a loss 0f¥590. At what price did he sell the item to the said customer?

Ans X 1. %4240
X2 34,320
v 3 34,410
x4 T4,400

Question ID : 65497835383
Status : Answered
Chosen Option : 3
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Q.5 AandB can do a piece of work in 36 days and 48 days, respectively. They work together for 12 days. The remaining
work is completed by C alone in 10 days. A and C together can complete 62.5% of the original work in:

Ans 1. O days
X2 12% days
X 3. ME days
X 4. 10 days

Question ID : 65497835397
Status : Answered
Chosen Option : 1

Q.6 A sum of money at simple interest amounts to ¥750 in 5 years and to T800 in 6 years. The sum is:
Ans 1. %500

X 2. 3680

X 3. F550

X4 3650

Question ID : 65497835387
Status : Answered
Chosen Option : 1

Q.7  Find the compound interest on T15,600 at 12% per annum for 9 months, compounded quarterly.

Ans @ 1.31,446.54
X2 %1,972.40
x3 %1,925.75
x4 %1,969.25

Question ID : 65497835391
Status : Answered
Chosen Option : 3

Q8 JfP:Q=2:3 thenfind (2P + Q) : (5P — 3Q).
Ans X 1. 4:3

K2 2:5

3 7:1

X4 3:8

Question ID : 65497835390
Status : Answered
Chosen Option : 3
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Q.9 A certain sum amounts to T13860 after 5 years and to T16776 after § years at the same rate per cent per annum at simple

interest. What will be simple interest (in ) on a sum of T20,000 for 3 g vears at the same rate?

Ans 1. 7344
K2 7434
X3 6374
X 4. 6473

Question ID : 65497835375
Status : Answered
Chosen Option : 1

Q.10 Ifaninteger'k'is divisible by 3, 5 and 10, then what will be the next larger integer divisible by all these numbers?
Ans X k42

X2 k+ 20

X3 k+ 10

v4 2k

Question ID : 65497835384
Status : Answered
Chosen Option : 4

Q.11 Three articles are bought at 500 each. One of them is sold at a profit of 12%. If the other two articles are also sold and
a loss of 20% occurs on the whole transaction, then what is the gain or loss percentage on selling the remaining two

articles?
Ans X 1. Profit of 15%
X 2. Loss of 25%
X 3. Loss of 40%
+ 4 Loss of 36%

Question ID : 65497835374
Status : Answered
Chosen Option : 4

Q.12 A shopkeeper bought an oven for ¥15,000 and sold it for T19,200. He paid 350 at the octroi and T650 transportation
charges. What is his loss or gain per cent?

Ans .z 1.20% gain
X2 21% loss
2 3. 20% loss

X 4.21% gain

Question ID : 65497835398
Status : Marked For Review
Chosen Option : 4
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Q13 sandm together have T4.655. If ﬁ of A's amount is equal to S of B's amount, what amount does B have?
Ans X1, 39,310

X2 %1680

X3 2311

& 4 T1,862

Question ID : 65497835386
Status : Answered
Chosen Option : 4

Q.14 Seema and Geeta start at the same time to ride from place A to place B, which is 90 km away from A. Seema travels 3
km per hour slower than Geeta. Geeta reaches place B and at once turns back, meeting Seema 15 km from place B.
Geeta’s speed (in km/h) is:

Ans 1. 12
¢ 2 10.5
X375
X409

Question ID : 65497835380
Status : Not Answered
Chosen Option : --

Q15 The value of 78 ~ 13 0f 5- [48 = 72 X 3- 15 =~ 8 X (23-29)- 17] of 4 is:

Ans

<1 S
4

1

X2 4=
5
1

X3 15-
4

o 4. 162
3

Question ID : 65497835395
Status : Answered
Chosen Option : 4

QA1

6 —
The value of 422 +{36 + 20f15— (24 + 8 +2)| is:
5 3 5/

Ans  #1. |
X210
X3 15
X4 5

Question ID : 65497835381
Status : Answered
Chosen Option : 1
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Q.17 The average weight of A, B and C is 60 kg. If the average weight of A and B is 45 kg, then the weight of C is:

Ans X 1. 80 kg
X2 70kg
X3 60kg
4 90 kg

Question ID : 65497835385
Status : Answered
Chosen Option : 4

Q.18 Acando a piece of work in 15 days working 6 hours per day and B can do it in 10 days working 5 hours per day. How
long (in days) will they take to do it, working together for 9 hours per day?

X1 62
7

Ans

x2 52
T

w3 32
7

4

x4 22
7

Question ID : 65497835379
Status : Answered
Chosen Option : 3

Q.19 Apool has length 15 m, breath 10 m. and depth 3 m. The water is filled up to a depth of 2.5 m. What is the quantity (in

kilo litres) of water in the pool?

Ans  X'1. 370.5
« 2. 375
X 3450
X 4. 475

Question ID : 65497835389
Status : Answered
Chosen Option : 2

Q.20 The savings of Radha are equal to 40% of her expenditure. If her income increases by 25% and the expenditure
increases by 40%, then her savings increase/decrease by how much?

Ans X 1. Increase by 15%
X 2. Increase by 12.5%
X 3. Decrease by 15%
« 4. Decrease by 12.5%

Question ID : 65497835394
Status : Answered
Chosen Option : 4
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Q.21 The speed of a train is 80 km/h. The distance travelled by it from 10.20 a.m. to 1.50 p.m. is:
Ans X 1. 250 km

X 2. 260 km

3. 280 km

X4 240 km

Question ID : 65497835382
Status : Answered
Chosen Option : 3

Q22 Find the area of a square, one of whose diagonals is 2.6 m long.

Ans X 1.1.25m?
2 3.38m?
X3 242m?
X4 350m?

Question ID : 65497835392
Status :"/Answered
Chosen Option : 2

Q.23 By selling an article for 299.20, a shopkeeper loses 12%. If he sells it for 350.20, then there is:
Ans X 1. 1.5% gain

X2 3% loss

X3 1.5% loss

« 4. 3% gain

Question ID : 65497835396
Status : Answered
Chosen Option : 4

Q.24 sita scored 756 marks out of 900 and her brother Avi scored 350 marks out of 500. How many more marks should Avi
get to make his score per cent equivalent to Sita?

Ans 1. 55
X2 80
3. 70
< 4. 60

Question ID : 65497835378
Status : Answered
Chosen Option : 3

Q.25 Letx be the greatest number which when divides 6564, 7416 and 8907, the remainder in each case is the same. The
sum of the digits of x is:

Ans X109
K25
X310
4 6

Question ID : 65497835393
Status : Answered
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Section : Part D English

Q.1 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

He acted in according to my instructions.
Ans X 1. behalf of

4 2. accordance with

75 3. spite to

#< 4. No improvement required

Question ID : 65497835414
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate ANTONYM of the given word.

Sparse
Ans X 1.Clear
" 2. Dense
75 3.Extra
< 4. Thin

Question ID : 65497835404
Status : Answered
Chosen Option : 1

Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Banking today, / in a seamless world, / make it possible for you / to access your
account from any city.

Ans  # 1. make it possible for you
< 2. to access your account from any city
7% 3. Banking today

X 4.in a seamless world

Question ID : 65497835403
Status : Answered
Chosen Option : 1

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

A medical practitioner specialising in children and their diseases
Ans X 1. Cardiologist

75 2. Nephrologist
o 3. Paediatrician
25 4. Physician

Question ID : 65497835399
Status : Marked For Review
Chosen Option : 3
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Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A large group of people
Ans X 1. Herd
¥ 2. Horde
75 3. Flock
X 4. Pride

Question ID : 65497835418
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate meaning of the given idiom.

Pass the baton
Ans X 1. pass on belongings to the heirs

¥ 2. shift responsibility to others
7% 3. take part in a relay race

#< 4. share a reward with someone

Question ID :'65497835407
Status : Marked For Review
Chosen Option : 2

Q.7 Select the most appropriate SYNONYM of the given word.

Humble
Ans X 1.Loud

" 2. Meek
25 3. Mute
& 4.Rude

Question ID : 65497835417
Status : Answered
Chosen Option : 3

Q.8 The following sentence has been split into four segments.

Identify the segment that contains a grammatical error.Tagore was / a poet / as well / a
patriot.

Ans X 1. a patriot
o 2. as well
X 3. Tagore was
< 4.apoet

Question ID : 65497835416
Status : Marked For Review
Chosen Option : 2
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Q.9 Select the most appropriate option to fill in the blank.

In the jungle, hesawa___ of wolves.
Ans X 1.bunch
" 2. pack
X 3. grove
< 4. herd

Question ID : 65497835400
Status : Marked For Review
Chosen Option : 4

Q.10 Select the most appropriate option that can substitute the underlined word in the
given sentence.

After graduation, he found a transaction job as a technical expert in regional office.
Ans X 1. rickety

2< 2. auspicious
" 3. stable
& 4. stalwart

Question ID : 65497835401
Status : Marked For Review
Chosen Option : 4

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The children / were warned / to keep away / for the edge of the cliff.
Ans X 1. The children

X 2. were warned
" 3. for the edge of the cliff

X 4. to keep away

Question ID : 65497835410
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate option to fill in the blank.
The news reporter refusedto _~  his source of information.
Ans o 1. disclose
< 2. distribute
2 3. discover
< 4. distract

Question ID : 65497835409
Status : Answered
Chosen Option : 1
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words.

Ans o 1. Florist

25 2. Horticulturist
< 3. Decorator
X 4. Gardener

Person who sells and arranges cut flowers

Q.13 Select the option that can be used as a one-word substitute for the given group of

Question ID : 65497835405
Status : Answered
Chosen Option : 1

Deposit

Ans o 1. Withdraw
X 2.Save

7% 3. Exhaust
< 4. Submit

Q.14 Select the most appropriate ANTONYM of the given word.

Question ID :'65497835402
Status : Answered
Chosen Option : 1

Q.15 Select the INCORRECTLY spelt word.
Ans o 1. Jelous

< 2. Sincere
7% 3. Laughter
X 4. Collide

Question ID : 65497835408
Status : Answered
Chosen Option : 1

Keep in touch
Ans X 1. Search closely

" 2. Maintain contact
< 3. Be sincere

< 4. Trust someone

Q.16 Select the most appropriate meaning of the given idiom.

Question ID : 65497835413
Status : Answered
Chosen Option : 2

Ans 4 1. Disobediaent
X 2. Disapprove
2< 3. Proportionate
75 4. Overreact

Q.17 Select the INCORRECTLY spelt word.

Question ID : 65497835406
Status : Answered
Chosen Option : 1
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Q.18 Select the most appropriate synonym of the given word.
Spurn
Ans  # 1. Despise
< 2. Include
25 3. Admire
75 4. Gossip

Question ID : 65497835411
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate option to fill in the blank.

They were of the consequences of their decision.
Ans . 1. aware

< 2. alert

< 3. alive
X 4. awake

Question ID : 65497835415
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Trees clean an air and remove polluted gases.
Ans X 1. No substitution required
¥ 2. clean the air
75 3.clean a air

#< 4. clean an airs

Question ID : 65497835412
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once a severe epidemic broke out in Cuttack. Subhas Bose went there with a small
(1) to help the poor and sick people. Some people (2) the work done by
Subhas and his friends (3) others made fun of them. Haider was one (4)
person who always ridiculed them. Once, when Haider fell ill, Subhas (5) looked after
him till he recovered.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no. 1.

Ans X 1.club

#< 2. body
o# 3. team

< 4.gang

Question ID : 65497835420
Status : Answered
Chosen Option : 3
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Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once a severe epidemic broke out in Cuttack. Subhas Bose went there with a small

(1) to help the poor and sick people. Some people (2) the work done by
Subhas and his friends (3) others made fun of them. Haider was one (4)

person who always ridiculed them. Once, when Haider fell ill, Subhas (5) looked after
him till he recovered.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.

< 1. obliged
/< 2. enjoyed
/< 3. thanked
«# 4. praised

Question ID : 65497835421
Status : Answered
Chosen Option : 4

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once a severe epidemic broke out in Cuttack. Subhas Bose went there with a small
(1) to help the poor and sick people. Some people (2) the work done by
Subhas and his friends (3) others made fun of them. Haider was one (4)
person who always ridiculed them. Once, when Haider fell ill, Subhas (5) looked after
him till he recovered.

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3.
o 1. while

/< 2. aslong as
5 3. since
#< 4. unless

Question ID : 65497835422
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once a severe epidemic broke out in Cuttack. Subhas Bose went there with a small
(1) to help the poor and sick people. Some people (2) the work done by
Subhas and his friends (3) others made fun of them. Haider was one (4)
person who always ridiculed them. Once, when Haider fell ill, Subhas (5) looked after
him till he recovered.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans

& 1.such
5 2.s0
#< 3. which
25 4. that

Question ID : 65497835423
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once a severe epidemic broke out in Cuttack. Subhas Bose went there with a small

(1) to help the poor and sick people. Some people (2) the work done by
Subhas and his friends (3) others made fun of them. Haider was one (4)

person who always ridiculed them. Once, when Haider fell ill, Subhas (5) looked after
him till he recovered.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans

#5 1. smoothly
¥ 2. gently
75 3. freely
#< 4. politely

Question ID : 65497835424
Status : Answered
Chosen Option : 4

Section : Part D Hindi

Q1

Ans

fow g ot & e wrT A Ffe 32
W GUE WM ST Heam AR 21
X 1.z

X 2. FfRag

o 3. TH UToE=

X 4. BT S

Question ID : 65497835440
Status : Not Answered
Chosen Option : --

Q.2

Ans

fraa v 91 gfd & fore walfire Sugea 2 &1 T Sifv:
A sraward » A A STAH o Y|

X 1. UeE

X 2. g5%

X 3. gydisan

o 4. dfEn

Question ID : 65497835437
Status : Not Answered
Chosen Option : --

Q3

Ans

fraa =T 3t gfd B & g waiftres Suga fwe 1 997 a3
IYTFATATH S o7 - UDell T 3|

X 1.3

o 2. T

X3

X 4. @A

Question ID : 65497835439
Status : Not Answered
Chosen Option : --
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Q4 fFufafad gy #, Ry v ar e & 9, 39 A &1 999 3%, S ggray & agt od ot
ad HRaT 7

NS g1 4T
Ans X 1. 9R faufy omT
7 2. 7§ S8 ST O

XK 3. AR BT
o 4 TUHE BT

Question ID : 65497835432
Status : Not Answered
Chosen Option : --

Q.5 f3g e are ¥ g T = R
foraat sm=m &1 7 81
Ans )(1_3113“3@1
7 2. I
o 3. TR
X 4. AR

Question ID : 65497835435
Status : Not Answered
Chosen Option : --

Q.6 fig e arH 1 9E YT I B e w1 R Y WAL IR TR, A PR IR TR Y
fww s |

(1) S (2) FUS F H (3) &I 8 (4) P IR T {
Ans (1_3@

X 2. PR ILTB

X 3.3ee

X 4. FU IR

Question ID : 65497835426
Status : Not Answered
Chosen Option : --

Q.7 <Ry fpaer wafgard 82
Ans X 1. i

7< 2. foorett

o 3. TR

X 4.

Question ID : 65497835444
Status : Not Answered
Chosen Option : --
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Q.8 23U T W & THMT eg BT 999 B

ught
Ans X 1 faftq

¢ 2. TEE

X 3. 990
X 4. Bad

Question ID : 65497835427
Status : Not Answered
Chosen Option : —

Q9 3w gy ¥ R ve v @Rt

w9 |- arar
Ans 1 THQHE
X 2. R
X 3. 9@
X 4. 7gumdt
Question ID : 65497835436
Status : Not Answered
Chosen Option : —
Q.10 f3u e areg ¥ b wrm F 3R 22
T3 39 SATSHI BT UaT AIgH el 21
Ans X 1.39 3fiGH
WER NG
X 3. @Iuar
X493
Question ID : 65497835443
Status : Not Answered
Chosen Option : —
Q.11 T Tl 919 e BT 947 DY)
Ans X 1 w@ifeue
o 2. @iy
X 3.%dig¥
X 4. qaiiey
Question ID : 65497835433
Status : Not Answered
Chosen Option : —
Q.12 YAigq & Ugd ST GHY IR F fQ TP g T ERI?
Ans X 1 Ul
X 2.qdfg
3. SUBIA
X 4. WG
Question ID : 65497835442
Status : Not Answered
Chosen Option : —
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Q13 |HRY ST e e 71 gFm?
Ans 1 TRy

X 2. 3Hg

X 3. ol

X 4 aRE

Question ID : 65497835441
Status : Not Answered
Chosen Option : —

Q.14 3y 7Y arey | YEifea @e & ufawifia s & frg gaifue Sugw e w1
%lgﬁ@uﬁgmwﬁﬁmﬂﬁ%,aﬁmmwaﬂm
BT PY|

T W 7@ g8 TS SHET T8 B
Ans X 1.3 6l &
X 2. fpder T e
X 3. ol Sead 3 sMaxaHdr T8l 8
o 4. JTBT TR

Question ID : 65497835428
Status : Not Answered
Chosen Option : -

Q.15 [ gt aret Ve BT 9T BY
Ans X 1 GHafifd

o 2. DAl
X 3. pagHl
X 4. HadE

Question ID : 65497835434
Status : Not Answered
Chosen Option : —

Q.16 g 7Y arey & YEifea @e o ufawiiia s & forg gaifue Sugw e s
%l;ﬁsﬂuﬁg?ﬁawﬁﬁmﬂﬁ%,a\ﬁmmmaﬂm
BT P

Titgry ot 3 WA ¥ U wig o A1
Ans X 1 fodft aeard ot saigdl el B
X 2. digAry < @i
X 3. s Y
4. gy St

Question ID : 65497835429
Status : Not Answered
Chosen Option : —
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Q.17 g IR e A |, 39 Reer o1 999 Y, S 3T 70 gerat & wét o &) suad Hear -

TR #H ARR HIAT
Ans o 1 U3 A 9gd PV el
X 2. 4IS U4 9 9gd $® WG ol
X 3. YISl oFTg H §gd IHHE SHHT
X 4. B g 7 rer I 3@ 1

Question ID : 65497835431
Status : Not Answered
Chosen Option : —

Q.18 fy MY e ¥ & Fafifew w= ¥ fIdm e o1 997 Fifn:
wifea
Ans 1 WA
X 2.9
X 3. Udiar
X 4. i

Question ID : 65497835430
Status : Not Answered
Chosen Option : -

Q.19 aﬁﬁqmmﬁmmaﬁuﬁwﬁaaﬂ%%mmmﬁmmm
I

Tiferdt ¥ 918 ¥ A FE A fo® w11
Ans X 1.4

X 2. TR
X 3.3Mgc
4. 98R

Question ID : 65497835438
Status : Not Answered
Chosen Option : -

Q.20 f¥aa wIF & O Be & Ry waife Suged e &1 997 Sl
STFPRA___ @i
Ans X 1 T@@R
X291
X 3.
4. 3R

Question ID : 65497835425
Status : Not Answered
Chosen Option : —
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Comprehension:

3d HIS &1 YR (1) i — GG, Yhadl 3R Sitd IR 94l /1 5, 39l dg oid 30
@) B 3R Iadl 8, 9 39 T8 &8 DI oRexd (3) T2 gXclt fb U Sl & AT
fa®! 1t @ (4) T gl 94 db A & iR (5) BT SR T, 98 U BI gait
3R G Bl gEl GEDHR diwid gidl YTl

g st & IR IWIed T & YR W g

SubQuestion No : 21

Q.21 TR & e wIF (1) ¥ fore gaifte ugea v -
Ans X 1.7

X 2 faaq

X 3.8

4. 9

Question ID : 65497835446
Status : Not Answered
Chosen Option : —

—

Comprehension:

39 H™ BT IR (1) e — T99, IhadT 3R Sfid R 9d1 71 7, 311N 98 9 31U
) DI 3R TAdT ¢, 99 I T8 8 B oewd (3) 21 gicll fib I Sl & et
fouat 31t ot (4) e &1 O dd A & HIR (5) BT SR YT, 98 30 &l gl
3R G D gEl GEIR <fid sidl YTl

st & IR SWIad TR & SHTUR | giforg|

SubQuestion No : 22
Q.22 TR ¥ e WM (2) ¥ Rre walfte ugea weg 8-
Ans X 1. gegd

X2 W
X 3. yfawy
¢ 4. a&

Question ID : 65497835447
Status : Not Answered
Chosen Option : —

Comprehension:

3d A &1 URT (1) o= gag, Yhadl 3R Siid IR 941 741 3, 3 dg oid 30
) DI 3R Tadl &, 99 34 Tg 8- B oewd (3) 21 gicll fob Iub Sfdl & et
fpud! 31t @i (4) 8 81 94 d® 999 & iR (5) BT IR YT, 98 30 &I g&it
3R G D GEl GEIR <fvwid Bidl YT

1 U3l & IR WG TR & YR R A
SubQuestion No : 23
Q.23 T & Y _IF (3) ¥ fore waifie Sugea wreg -
Ans X 1. TgON
X 2. 3rfa
o 3. HeQqH
X 4.Ude

Question ID : 65497835448
Status : Not Answered
Chosen Option : —
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Q.24
Ans

Comprehension:

3d HIS &1 YR (1) i — GG, Yhadl 3R Sitd IR 94l /1 5, 39l dg oid 30
@) B 3R Iadl 8, 9 39 T8 &8 DI oRexd (3) T2 gXclt fb U Sl & AT
fa®! 1t @ (4) T gl 94 db A & iR (5) BT SR T, 98 U BI gait
3R G Bl gEl GEDHR diwid gidl YTl

99 Usil & IR SWIad T & YR W I
SubQuestion No : 24
e & e Wi (4) & fore walfte sugea o 8-
X 1.50d
¢ 2. 994
X 3. fma
X 4.91d

Question ID : 65497835449

Status : Not Answered

Chosen Option : —

—

Comprehension:
39 H™ BT IR (1) e — T99, IhadT 3R Sfid R 9d1 71 7, 311N 98 9 31U

) DI 3R TAdT ¢, 99 I T8 8 B oewd (3) 21 gicll fib I Sl & et

fouat 31t ot (4) e &1 O dd A & HIR (5) BT SR YT, 98 30 &l gl
3R G D gEl GEIR <fid sidl YTl

7 Usil & ITR SWIdd TR & MYUR TR i
SubQuestion No : 25

Q.25 TR ¥ Raa WF (5) ¥ fre walfte Sugea weg 8-

Ans

X 1. ufaegf
X 2 @rf

xX3dg

o 4. MG

Question ID : 65497835450
Status : Not Answered

Chosen Option : —
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